

Home Search Collections Journals About Contact us My IOPscience

Symmetries and constant mean curvature surfaces

This article has been downloaded from IOPscience. Please scroll down to see the full text article.

2001 J. Phys. A: Math. Gen. 34 3373

(http://iopscience.iop.org/0305-4470/34/16/304)

View the table of contents for this issue, or go to the journal homepage for more

Download details: IP Address: 171.66.16.95 The article was downloaded on 02/06/2010 at 08:56

Please note that terms and conditions apply.

J. Phys. A: Math. Gen. 34 (2001) 3373-3378

www.iop.org/Journals/ja PII: S0305-4470(01)19788-X

Symmetries and constant mean curvature surfaces

Xi-Fang Cao¹ and Chou Tian²

¹ Department of Mathematics, Yangzhou University, Yangzhou, Jiangsu 225002, People's Republic of China

² Department of Mathematics, University of Science and Technology of China, Hefei 230026, People's Republic of China

Received 30 November 2000

Abstract

In this paper, we discuss the Lie symmetries, symmetry algebra and symmetry reductions of the equation which describes constant mean curvature surfaces via the generalized Weierstrass–Enneper formulae. First we point out that the equation admits an infinite-dimensional symmetry Lie algebra. Then using symmetry reductions, we obtain two integrable Hamiltonian systems (one autonomous, the other nonautonomous) with two degrees of freedom. The autonomous one was obtained by Konopelchenko and Taimanov by other means. Our method provides a new approach for construction of constant mean curvature surfaces.

PACS numbers: 0220, 0210, 4520J, 0240, 1130

1. Introduction

For a long time, the only known examples of constant mean curvature surfaces in threedimensional Euclidean space E^3 were, besides the round sphere and the cylinder, a family of rotationally invariant surfaces discovered in 1841 by Delaunay [1]. But in the past two decades, there have been several breakthroughs in the study of constant mean curvature surfaces. On the one hand, in 1984 Wente [2] constructed infinitely many immersed tori of constant mean curvature and disproved the so-called Hopf conjecture. In 1987 Kapouleas [3] constructed closed constant mean curvature surfaces of any genus $g \ge 3$. On the other hand, in 1979 Kenmotsu [4] discovered a remarkable representation formula for arbitrary surfaces in E^3 with nonvanishing mean curvature, which is a generalization of the well known Weierstrass-Enneper formula of minimal surfaces. In 1993 Konopelchenko [5] rediscovered it in a different but equivalent form in connection with integrable nonlinear equations. By using this generalized Weierstrass-Enneper formula, [6] established a relationship between constant mean curvature surfaces and an integrable Hamiltonian system with two degrees of freedom. In this paper, we discuss the Lie symmetries, symmetry algebra and symmetry reductions of the equation which describes constant mean curvature surfaces via the generalized Weierstrass-Enneper formula. We use the notation and formulae from [6].

Let z, \overline{z} be local coordinates on a surface and (X^1, X^2, X^3) coordinates of its immersion in E^3 , where

$$X^{1} + iX^{2} = 2i \int_{z_{0}}^{z} (\bar{\psi}_{1}^{2} dz' - \bar{\psi}_{2}^{2} d\bar{z}')$$

$$X^{1} - iX^{2} = 2i \int_{z_{0}}^{z} (\psi_{2}^{2} dz' - \psi_{1}^{2} d\bar{z}')$$

$$X^{3} = -2 \int_{z_{0}}^{z} (\psi_{2} \bar{\psi}_{1} dz' + \psi_{1} \bar{\psi}_{2} d\bar{z}')$$
(1)

and ψ_1 , ψ_2 satisfy the equation

$$\psi_{1t} - i\psi_{1x} = 2H(|\psi_1|^2 + |\psi_2|^2)\psi_2$$

$$\psi_{2t} + i\psi_{2x} = -2H(|\psi_1|^2 + |\psi_2|^2)\psi_1$$
(2)

where H = constant, z = t + ix.

Then (1) describes a surface with constant mean curvature H. In the following sections, we first point out that equation (2) admits an infinite-dimensional symmetry Lie algebra. Then using symmetry reductions we obtain two integrable Hamiltonian systems (one autonomous, the other nonautonomous) with two degrees of freedom. The autonomous one was obtained in [6] by other means.

2. An infinite-dimensional symmetry Lie algebra

Without loss of generality, we may assume $H = \frac{1}{2}$, then (2) becomes

$$\psi_{1t} = i\psi_{1x} + (|\psi_1|^2 + |\psi_2|^2)\psi_2 \equiv K_1$$

$$\psi_{2t} = -i\psi_{2x} - (|\psi_1|^2 + |\psi_2|^2)\psi_1 \equiv K_2.$$
(3)

The Gateaux derivatives of K_i with respect to ψ_i are, respectively,

$$K'_{1\psi_{1}} = i\partial_{x} + \bar{\psi}_{1}\psi_{2} + \psi_{1}\psi_{2}\hbar$$

$$K'_{1\psi_{2}} = |\psi_{1}|^{2} + 2|\psi_{2}|^{2} + \psi_{2}^{2}\hbar$$

$$K'_{2\psi_{1}} = -|\psi_{2}|^{2} - 2|\psi_{1}|^{2} - \psi_{1}^{2}\hbar$$

$$K'_{2\psi_{2}} = -i\partial_{x} - \psi_{1}\bar{\psi}_{2} - \psi_{1}\psi_{2}\hbar$$
(4)

where operators ∂_x and \hbar are defined, respectively, by

$$\partial_x(f) = \frac{\partial f}{\partial x}$$
 $\hbar(f) = \bar{f}$

for an arbitrary complex-valued function f, the bar denotes the complex conjugation.

 $\binom{\sigma_1}{\sigma_2}$ is called a symmetry of equation (3) if it satisfies

$$\begin{pmatrix} \sigma_1 \\ \sigma_2 \end{pmatrix}_t = \begin{pmatrix} K'_{1\psi_1} & K'_{1\psi_2} \\ K'_{2\psi_1} & K'_{2\psi_2} \end{pmatrix} \begin{pmatrix} \sigma_1 \\ \sigma_2 \end{pmatrix}$$
(5)

where σ_{it} denote the total derivatives of σ_i with respect to t, $K'_{i\psi_j}$ the Gateaux derivatives of K_i with respect to ψ_j , and ψ_j satisfy equation (3).

From (5), through an arduous calculation, we have the following theorem.

Theorem 1. Let

$$\sigma_{1} = a(x, t)\psi_{1x} + b(x, t)\psi_{1t} + c(x, t)\psi_{1}$$

$$\sigma_{2} = a(x, t)\psi_{2x} + b(x, t)\psi_{2t} + d(x, t)\psi_{2}$$
(6)

where a(x, t), b(x, t) are real-valued functions, c(x, t), d(x, t) are complex-valued functions, and satisfy the following conditions:

$$a_t = -b_x \qquad a_x = b_t \qquad b_t - ib_x = \bar{c} + d$$

$$c_t = ic_x \qquad d_t = -id_x \qquad c + \bar{c} = d + \bar{d}$$
(7)

then $\binom{\sigma_1}{\sigma_2}$ is a symmetry of equation (3).

Examples.

$$\begin{pmatrix} \psi_{1x} \\ \psi_{2x} \end{pmatrix} \begin{pmatrix} \psi_{1t} \\ \psi_{2t} \end{pmatrix} \begin{pmatrix} i\psi_1 \\ i\psi_2 \end{pmatrix}$$

are all symmetries of equation (3) and so is

$$\begin{pmatrix} t\psi_{1x} - x\psi_{1t} - \frac{1}{2}\mathrm{i}\psi_1 \\ t\psi_{2x} - x\psi_{2t} + \frac{1}{2}\mathrm{i}\psi_2 \end{pmatrix}$$

Suppose $\binom{\sigma_{1j}}{\sigma_{2j}}$ (*j* = 1, 2) are two symmetries of equation (3), where

$$\sigma_{1j} = a_j \psi_{1x} + b_j \psi_{1t} + c_j \psi_1 \sigma_{2j} = a_j \psi_{2x} + b_j \psi_{2t} + d_j \psi_2$$
(8)

and

$$\begin{array}{ll} a_{jt} = -b_{jx} & a_{jx} = b_{jt} & b_{jt} - ib_{jx} = \bar{c}_j + d_j \\ c_{jt} = ic_{jx} & d_{jt} = -id_{jx} & c_j + \bar{c}_j = d_j + \bar{d}_j. \end{array}$$
(9)

Defining the Lie bracket of $\binom{\sigma_{11}}{\sigma_{21}}$ and $\binom{\sigma_{12}}{\sigma_{22}}$ as follows:

$$\begin{bmatrix} \begin{pmatrix} \sigma_{11} \\ \sigma_{21} \end{pmatrix}, \begin{pmatrix} \sigma_{12} \\ \sigma_{22} \end{pmatrix} \end{bmatrix} = \begin{pmatrix} \sigma_{11} \\ \sigma_{21} \end{pmatrix}' \begin{pmatrix} \sigma_{12} \\ \sigma_{22} \end{pmatrix} - \begin{pmatrix} \sigma_{12} \\ \sigma_{22} \end{pmatrix}' \begin{pmatrix} \sigma_{11} \\ \sigma_{21} \end{pmatrix}$$
(10)

where

$$\begin{pmatrix} \sigma_{1j} \\ \sigma_{2j} \end{pmatrix}' = \begin{pmatrix} a_j \partial_x + b_j \partial_t + c_j & 0 \\ 0 & a_j \partial_x + b_j \partial_t + d_j \end{pmatrix}$$

then we have:

Theorem 2. The symmetries of equation (3) in theorem 1 together with the Lie bracket (10) constitute an infinite-dimensional Lie algebra over real domain.

Proof. It is obvious that the real coefficients linear combinations of two symmetries of equation (3) are also symmetries of (3).

If (8) are two symmetries of equation (3), then we have

$$\begin{bmatrix} \sigma_{11} \\ \sigma_{21} \end{bmatrix}, \begin{pmatrix} \sigma_{12} \\ \sigma_{22} \end{bmatrix} = \begin{pmatrix} a\psi_{1x} + b\psi_{1t} + c\psi_1 \\ a\psi_{2x} + b\psi_{2t} + d\psi_2 \end{pmatrix}$$

where

$$a(x, t) = a_1 a_{2x} - a_2 a_{1x} + b_1 a_{2t} - b_2 a_{1t}$$

$$b(x, t) = a_1 b_{2x} - a_2 b_{1x} + b_1 b_{2t} - b_2 b_{1t}$$

$$c(x, t) = a_1 c_{2x} - a_2 a_{1x} + b_1 c_{2t} - b_2 c_{1t}$$

$$d(x, t) = a_1 d_{2x} - a_2 d_{1x} + b_1 d_{2t} - b_2 d_{1t}.$$

Therefore

$$a_t = -b_x$$
 $a_x = b_t$ $b_t - ib_x = \bar{c} + d$
 $c_t = ic_x$ $d_t = -id_x$ $c + \bar{c} = d + \bar{d}$.

From theorem 1, $\begin{bmatrix} \sigma_{11} \\ \sigma_{21} \end{bmatrix}$, $\begin{pmatrix} \sigma_{12} \\ \sigma_{22} \end{bmatrix}$] is also a symmetry of (3). Therefore from proposition 1 of [7, p 210], theorem 2 is proved.

3. Symmetry reductions and integrable Hamiltonian systems

In this section, using symmetry reductions, we give two integrable Hamiltonian systems with two degrees of freedom. One is autonomous, which was obtained in [6] by other means. The other is nonautonomous. In a special case, we give explicit solutions in terms of an elliptic function.

First

$$\begin{pmatrix} \sigma_1 = \psi_{1x} - i\lambda\psi_1\\ \sigma_2 = \psi_{2x} - i\lambda\psi_2 \end{pmatrix}$$
(11)

is a symmetry of equation (3), where λ is an arbitrary real number.

Let

$$\sigma_1=\sigma_2=0.$$

We have

$$\psi_1 = \phi_1(t) \mathrm{e}^{\mathrm{i}\lambda x} \qquad \psi_2 = \phi_2(t) \mathrm{e}^{\mathrm{i}\lambda x} \tag{12}$$

where $\phi_1(t)$ and $\phi_2(t)$ are arbitrary functions of *t*.

Then from (3), $\phi_1(t)$ and $\phi_2(t)$ satisfy the following equation:

$$\phi_{1t} = -\lambda \phi_1 + (|\phi_1|^2 + |\phi_2|^2) \phi_2$$

$$\phi_{2t} = \lambda \phi_2 - (|\phi_1|^2 + |\phi_2|^2) \phi_1.$$
(13)

This is an integrable autonomous Hamiltonian system obtained in [6].

Second

$$\begin{pmatrix} \sigma_1 = t\psi_{1x} - x\psi_{1t} \\ \sigma_2 = t\psi_{2x} - x\psi_{2t} + i\psi_2 \end{pmatrix}$$
(14)

is also a symmetry of equation (3). Let

 ψ_1

$$\sigma_1=\sigma_2=0.$$

We have

$$=\phi_1(\xi)$$
 $\psi_2 = \phi_2(\xi) e^{-i\theta}$ (15)

where $\xi = x^2 + t^2$, $\theta = \arctan \frac{x}{t}$, ϕ_1 and ϕ_2 are arbitrary complex-valued functions of ξ . Then from (3), ϕ_1 and ϕ_2 satisfy the following equation:

$$2\xi^{\frac{1}{2}}\phi_{1}' = (|\phi_{1}|^{2} + |\phi_{2}|^{2})\phi_{2}$$

$$2\xi^{\frac{1}{2}}\phi_{2}' + \xi^{-\frac{1}{2}}\phi_{2} = -(|\phi_{1}|^{2} + |\phi_{2}|^{2})\phi_{1}.$$
(16)

Let $\phi_1 = p_1 + ip_2$, $\phi_2 = q_1 + iq_2$, then

1

$$2\xi^{\frac{1}{2}}p'_{j} = (p_{1}^{2} + p_{2}^{2} + q_{1}^{2} + q_{2}^{2})q_{j}$$

$$2(\xi^{\frac{1}{2}}q_{j})' = -(p_{1}^{2} + p_{2}^{2} + q_{1}^{2} + q_{2}^{2})p_{j}.$$
(17)

Introduce new variables

$$\mathcal{P}_j = p_j \qquad \mathcal{Q}_j = \xi^{\frac{1}{2}} q_j.$$

•

Then we have

$$\mathcal{P}'_{j} = \frac{1}{2} (\mathcal{P}_{1}^{2} + \mathcal{P}_{2}^{2} + \xi^{-1} \mathcal{Q}_{1}^{2} + \xi^{-1} \mathcal{Q}_{2}^{2}) \xi^{-1} \mathcal{Q}_{j}$$

$$\mathcal{Q}'_{j} = -\frac{1}{2} (\mathcal{P}_{1}^{2} + \mathcal{P}_{2}^{2} + \xi^{-1} \mathcal{Q}_{1}^{2} + \xi^{-1} \mathcal{Q}_{2}^{2}) \mathcal{P}_{j}.$$
 (18)

It has the Hamiltonian form

$$\mathcal{P}'_{j} = \{\mathcal{P}_{j}, \mathcal{H}\} \qquad \mathcal{Q}'_{j} = -\{\mathcal{Q}_{j}, \mathcal{H}\}$$
(19)

with the Hamiltonian function

$$\mathcal{H} = \frac{1}{8} (\mathcal{P}_1^2 + \mathcal{P}_2^2 + \xi^{-1} \mathcal{Q}_1^2 + \xi^{-1} \mathcal{Q}_2^2)^2$$
(20)

and with respect to the usual Poisson bracket $\{\cdot, \cdot\}$ on Euclidean space E^4 . It must be pointed out that because of the nonautonomy of (19), \mathcal{H} is not a first integral for it. In fact, a function I(x, t) is a first integral for (19) if and only if [8]

$$\frac{\partial I}{\partial t} + \{I, \mathcal{H}\} = 0$$

for all x, t.

The Hamiltonian system (19) has two first integrals:

$$I_1 = \xi(\mathcal{P}_1^2 + \mathcal{P}_2^2 + \xi^{-1}\mathcal{Q}_1^2 + \xi^{-1}\mathcal{Q}_2^2)^2 + 2(\mathcal{P}_1\mathcal{Q}_1 + \mathcal{P}_2\mathcal{Q}_2)$$
(21)

$$I_2 = \mathcal{P}_1 \mathcal{Q}_2 - \mathcal{P}_2 \mathcal{Q}_1. \tag{22}$$

Moreover, they are in involution; thus we conclude that the Hamiltonian system (19) is integrable [9].

For the case $p_2 \equiv q_2 \equiv 0$, we can give explicit solutions of (17) in terms of an elliptic function. In fact, let

$$p_1 = p(\xi)$$
 $q_1 = q(\xi)$ $p_2 \equiv q_2 \equiv 0$

Then

$$2\xi^{\frac{1}{2}}p' = (p^2 + q^2)q$$

$$2\xi^{\frac{1}{2}}q' = -(p^2 + q^2)p - \xi^{-\frac{1}{2}}q$$
(23)

and

$$I = \xi (p^2 + q^2)^2 + 2\xi^{\frac{1}{2}} pq$$
(24)

is a first integral for (23).

Let

 $p = r \cos \tau$ $q = r \sin \tau$.

Then we have

$$r' = -\frac{1}{2}\xi^{-1}r\sin^2\tau$$

$$\tau' = -\frac{1}{2}\xi^{-\frac{1}{2}}r^2 - \frac{1}{2}\xi^{-1}\sin\tau\cos\tau.$$
(25)

From (24)

$$r^{2} = \frac{-\sin(2\tau) + \sqrt{4I + \sin^{2}(2\tau)}}{2\xi^{\frac{1}{2}}}$$

Therefore

$$\tau' = -\frac{1}{4}\xi^{-1}\sqrt{4I + \sin^2(2\tau)}$$

$$\ln r = -\frac{1}{2}\int \frac{\sin^2 \tau}{\xi} d\xi.$$
(26)

The Gaussian curvatures of the corresponding surfaces are [6]

$$K = -\frac{1}{4} \frac{\Delta(\ln r^2)}{r^4}$$

where Δ is the Laplace operator:

$$\Delta = \frac{\partial^2}{\partial x^2} + \frac{\partial^2}{\partial t^2}.$$

Then from (26), we have

$$K = \frac{-\sin(2\tau)\sqrt{4I + \sin^2(2\tau)}}{\left(-\sin(2\tau) + \sqrt{4I + \sin^2(2\tau)}\right)^2}$$

The corresponding surfaces are the well known Delaunay surfaces.

Acknowledgments

Xi-Fang Cao was supported by NNSF of China (grant number 10071067). Chou Tian was supported by NNSF of China (grant number 19971084).

References

- [1] Delaunay D 1841 Sur la surface de revolution dont la courbure moyenne est constant J. Math. Pure Appl. 6315-20
- [2] Wente H 1986 Counterexample to a conjecture of H Hopf Pac. J. Math. 121 193-243
- [3] Kapouleas N 1987 Constant mean curvature surfaces in Euclidean three-space Bull. Am. Math. Soc. 17 318-20
- [4] Kenmotsu K 1979 Weierstrass formula for surfaces with prescribed mean curvature Math. Ann. 245 89-99
- [5] Konopelchenko B 1996 Induced surfaces and their integrable dynamics Stud. Appl. Math. 96 9-51
- [6] Konopelchenko B and Taimanov I 1996 Constant mean curvature surfaces via an integrable dynamical system J. Phys. A: Math. Gen. 19 1261–5
- [7] Tian C 1995 Symmetry Soliton Theory and Its Applications ed C H Gu (Berlin: Springer) pp 192-229
- [8] Olver P J 1986 Applications of Lie Groups to Differential Equations (New York: Springer)
- [9] Li J B et al 1994 The Theory of Generalized Hamiltonian Systems and Its Applications (Beijing: Science Press) (in Chinese)